pZR2F5E HF

HEEUHDSVIR (16)

A

% BEII—BITH,

()~ (12 OAFEZLLI, (13). (14) TRAFTEXTEE LI\,

a—2% da+b
(1) 5 3
4%  2a+bd)
=77% 6
_a—2b—8a—2b
= 6
_ —Ta—4b
=76
3) %(12x—18y):%><12x—%x18y
— 10z — 15y

(5) (6a)*x3ab =(6a)x (6a)x 3ab
=6X6X3XaXaXaXb
=108a°b

7 (2z—3y)+(—4x +3y)

=2x—3y —4x+ 3y
=(2—4)x+(—3+3y
= —2z

36a * X 4ab
3b

(9) 36a*+3b x4ab =
=48a°
(11) (2a +5b —2)+(a+2b)—(4a +b —3)
=2a+5b—2+a+2b—4a—b+3
=2+1—4)a+GB+2-1p+(—2+3)
=—a+6b+1
Sr + 2y =12
0.3z —0.4y =02 ...... ®)
@ OminE 10535 &
3r—4y=2
10z +4y =24
+) 3x—dy=2
13z =26
x=2
x=2% DIZRATHE
10+2y =12
y=2
y=1
z=2, y=1

(13)

DOx2

L-oT

2
@) 6aZhiela —6qte 20
3 3
3
—6a%ix ——
¢ 2a %
_6X3xa)(a)(bxb
B 2XaXaXb
=9
37 . _M
(4) 15a°b +5ab +3a = vy

—a
6) 5(3x+2y)+4(22z —3y)
=156z + 10y 4+ 8z — 12y
=(15+8)x+(10—-12)y
=23z — 2y

Q) (a*+4a—3)—(—a’—2a+1)
=a’+4a—3+a*+2a—1
=(1+1a*+4+2)a+(-3-1)

=2a%+6a —14
a9 Ly m
(10) (9z—1by +24)+3 = 3 3 5
=3z —5y+8

(12) 3z%—{2zy +(y*—3zy +2?)
=322 —(2ry +y?—3zy +z?)
=32%— 22y —y*+3zy —z*
=(B—1Dz’+(—2+3)zy —y*
=22+ zy —y?

" {395 =24 ... @
dr+3y=15 .- ®

Ox3
@x2

9 —6y =72
+) 8z 46y =30
17z =102
z=6
r=6% OIZRAT S &
18—2y=24
—2y==6
y=-—3

L-oT

=6, y=-—3
© OBUTTRYILY coxBTUS M [5U0DT RULRRR TENSID> O RTEET,



